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1- ijh{kkFkhZ loZizFke vius iz'u i= ij viuk ukekad vfuok;Zr% fy[ksaA  
 Candidates must write his/her Roll Number on the question paper. 
2- lHkh iz'u vfuok;Z gSA 
 All the questions are compulsory. 
3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksA 
 Write the answer of each question in the answer sheet only. 
4- ftu iz'u es vkarfjd [kaM gS] mu lHkh ds mÙkj ,d lkFk gh fy[ksA 
 For question having more than one part, the answers to those parts are to be written 

together in continuity. 
5- iz'u dk mÙkj fy[kus ls iwoZ iz'u dk Øekad vo'; fy[ksaA 
 Write down the serial number of the question before attempting it. 
6- iz'u i= ds fganh o vaxzsth :ikarj esa fdlh izdkj dh =qfV@varj@fojks/kkHkkl gksus 

ij fgUnh Hkk"kk ds iz'u dks gh lgh ekusA 
 If there is any kind of error/ difference/contradiction in the Hindi and English versions 

of the question paper, the question of Hindi version should be treated valid. 
7- iz'u la[;k 1 cgqfodYih iz'u gS] ftlesa 10 Hkkx gSA izR;sd Hkkx ,d vad dk gSA 

lgh fodYi dk p;u dj mÙkj iqfLrdk esa fy[ksaA 
 Question number 1 is an multiple choice question, with 10 parts. Each part is of one 

mark. Choose the correct option and write it in the answer sheet. 
 

iz'u la[;k 
Question No. 

vad izfr iz'u 

Mark Per Question 

1 (i) to (x) 1 

2-11 1 

12-19 2 

20-23 4 

24-25 5 

26-28 6 

 



[k.M&v  

Section-A 

1- cgq oSdfYid iz'u %& 

Multiple Choice Questions :- 

i) fuEufyf[kr esa ls fjDr leqPp; gS&      (1) 

 Empty set of following - 

a)  },01:{ 2 XENxxA    b)  },01:{ XENxxA   

c)  }{A     d)  },01:{ XEWxxA   

ii) leqPp; x esa 3 vo;o gS rks x ds mileqPp;ksa dh la[;k gS&  (1) 
Number of subsets of x if number of element of x is 3- 

a) 3  b) 9  c) 8   d) 27 

iii) ;fn (x+1, y-2) = (3,4) gS rks x o y ds eku gS&    (1) 

Find the value of x and y is (x+1, y-2) = (3,4) - 

a) (2, 5)  b) (6, 2)  c) (4, 2)  d) (2, 6) 

iv) 2sin  dk eku gS &        (1) 

Value of  2sin  - 

a) 0   b) -1   c) 1  ` d) 2 

v) ?2tan x          (1) 

a) 
x

x
2tan1

tan2


   b)  

x

x
2tan1

tan2


  c) 

x

x

tan1

tan3


        d) 

x

x

tan1

tan1




 

vi) ;fn 
1 1

?
8 9 10

x
           (1) 

if 
1 1

?
8 9 10

x
    

a) 90   b) 80   c) 115   d) 100 

vii) js[kk 052  yx dk <ky gS &      (1) 

Slope of line 052  yx  - 

a) 0   b) 
2

1
   c) 2   d) 

2

1
  

viii) fcUnqvksa P (1, -3, 4) vkSj Q (-4, 1, 2) ds chp dh nwjh gS &   (1) 
What is the distance between the points P (1, -3, 4) and Q (-4, 1, 2)  - 

a) 52   b) 53   c) 
5

3
  d) 36  

ix) 
2

lim

x
?

2

42





x

x
 -        (1) 

a) vifjHkkf"kr  (Undefined)  b) 4  c) 0  d)2 

x) 3] 8] 1] 15] 7] 9] 5] 2] 10] 11 dk ifjlj gS &    (1) 



Find the range of datas 3, 8, 1, 15, 7, 9, 5, 2, 10, 11 - 

a) 14  b) 13  c) 15  d) 6 

2- leqPp; }}{,{ tr ds lHkh mileqPp; fyf[k,A      (1) 

Write the total subset of set }}{,{ tr   

3- ;fn 2)(  xxf = rks )2(f  dk eku fyf[k,A     (1) 

Find the value of  )2(f if 2)(  xxf  

4- 31 iz   dk ekikad fyf[k,A  vFkok OR  
i

i
z





1

1
 (1) 

Find the modules of 31 iz    vFkok OR  
i

i
z





1

1
  

5- 35i  dk eku fyf[k,A         (1) 

Write the value of 35i   
6- )3,2(  ls tkus okyh <ky &4 dh js[kk dk lehdj.k Kkr dhft,A  (1) 

Find the equation of line of slope is -4 and passing through the point (-2, 3) 

vFkok OR 

 js[kk 7
9

4


y
x   dks vUr%[k.M :i es cnfy,A 

Change in intersect from of line 7
9

4


y
x    

7- 1log xe  dk vodyt Kkr dhft,A  OR 3sec 2 x    (1) 

Find the Derivative of 1log xe    OR 3sec 2 x    

8- ;fn nxxxx n ,.........,, 321 izs{k.k gS rFkk x  budk ek/; gSA rc izlj.k dk lw= fyf[k,A 

Find the formula of variance if x  is mean and nxxxx n ,.........,, 321  observation (1) 

9. Cos (A-B) = ...........................................      (1) 

10. 0232  xx dk -------------------------------- dk ewy gSA     (1) 

One Root of 0232  xx  is ................  

11. 
0

lim

x
..............

sin


x

x
        (1) 

Section - B 
 [k.M&c 

12- ,d fo|ky; esa 20 v/;kid gS tks xf.kr ;k HkkSfrd i<+krs gS buesa ls 12 xf.kr 

i<+krs gS vkSj 4 HkkSfrd vkSj xf.kr nksuksa i<+krs gSA fdrus v/;kid HkkSfrd i<+krs gSA 
20 Teacher in a school who teach Math or Physics out of which 12 teach Math and 4 

teach both Math and Physics. How many teachers Who teach  Physics.  (2) 



13- ;fn 












  1,

3

5

3

2
,1

3
y

x
 rks x o y Kkr dhft,A     (2) 

Find the Value of x and y 












  1,

3

5

3

2
,1

3
y

x
  

14- ;fn  ef )(  rFkk  2sin)(   rks 







4
)(
f dk eku fyf[k,A  (2) 

Find the value of 







4
)(
f  if  ef )(  and  2sin)(   

vFkok OR 

Qyu 2)( xxf   rks 
)11.1(

)1()1.1(


 ff Kkr dhft,A 

Find 
)11.1(

)1()1.1(


 ff

 if function 2)( xxf   

15- 3)35( i  dks iba  ds :i esa O;Dr dhft,A     (2) 

Express in borm of iba  of 3)35( i  

16- 88 )1()1( ii   dk eku fyf[k,A      (2) 

Write the value of 88 )1()1( ii   

vFkok OR 

lehdj.k 2 4 0x x    dk gy Kkr dhft,A  

Find the solution of Equation 2 4 0x x    

17- vad 1] 2] 3] 4] 5] 6] 7 dk iz;qDr djus ls fdruh 3 vadh; le la[;k,¡ cukbZ tk 

ldrh gS ;fn dksbZ Hkh vad nksgjk;k ugh x;k gS \    (2) 

How many even numbers can be made by using using the digits 1, 2, 3, 4, 5, 6, 7 any 

digit should not be repeated.  

vFkok OR 

;fn 41010  xx cc  gks rks x dk eku Kkr dhft,A 

Find the Value of x if 41010  xx cc  

18. 
0

lim

x
?

1cos

12cos





x

x
        (2) 

19- 106 56100  xxx  dk vodyt Kkr dhft,A    (2) 

Find the Derivative of 106 56100  xxx  

  



[k.M & l 
Section - C 

20- ,d FkSyh esa 5 dkyh rFkk 6 yky xsan gSA 2 dkyh rFkk 3 yky xsanks ds p;u ds 
rjhdksa dh la[;k fu/kkZfjr dhft,A      (4) 
There are 5 black and 6 red balls in a bag. Determine the number of ways of selecting 
balls 2 black and 3 red. 

vFkok OR 

;fn 5:312:12 1   nn pnpn rks n Kkr dhft,A 

Find the n if 5:312:12 1   nn pnpn  

21- lekUrj Js.kh 5] 13] 21 ---------------- dk dkSulk in 181 gS   (4) 
Which term is 181 of A.P. 5, 13, 21 ..................... 

vFkok OR 

3 vkSj 19 ds e/; 3 lekUrj ek/; Kkr dhft,A 
Find the 3 Arithmetic mean between 3 and 19 

22- js[kk 0243  yx  ds lekUrj vkSj fcUnq ¼&2] 3½ ls tkus okyh js[kk dk lehdj.k 

Kkr dhft,A         (4) 
Find the line of equation which is passing the point (-2, 3) and parallel to line 3x-4y+2 = 0  

vFkok OR 

js[kk 032  yx  ij yEc vkSj fcUnq (1,-2) ls tkus okyh js[kk dk lehdj.k Kkr 

dhft,A 
Find the equation of line which passing (1, -2) and perpendicular to line 032  yx  

23- fl) dhft, dh fcUnq )1,1,1(),5,5,1(),1,4,2(  rFkk (2, 2, 5) ,d vk;r ds 'kh"kZ  

gSA            (4) 

vFkok OR 

Prove that the points (-2, 4, 1), (-1, 5, 5), (1, 1, 1) and (2, 2, 5) are vertax of a Rectangle. 

vFkok OR 

nks fcUnqvksa A rFkk B ds funsZ'kkad Øe'k% ¼3] 4] 5½ vkSj ¼&1] 3] &7½ gSA xfr'khy 
fcUnq P ds iFk dk lehdj.k Kkr dhft, tcfd 222 2KPBPA   

Find the na  of path of moving point p while 222 2KPBPA   and coordinate of 

point A and B are (3, 4, 5) and (-1, 3, -7) 

[k.M&n 
Section - D 

24- feyku dhft, (Match ups)        (5) 

i) x2sin   a)  

ii) x2tan   b)1 

iii) .cos o   c) 2sin cosx x  



iv)
4

sec


  d) 2  

v)
2

tan


  e)
x

x
2tan1

tan2


 

vFkok OR 

;fn 
5

1
cossin  xx  rc x2tan  dk eku Kkr dhft,A 

Find out the value of x2tan if 
5

1
cossin  xx  

25- ,d iklk Qsadk tkrk gSA fuEufyf[kr ?kVukvksa dh izkf; drkvksa dk feyku dhft,A 
Match the Probabilities of following events when A dice is thrown.   (5) 

i) ,d vHkkT; la[;k izdV gksuk  
Appear to be a prime number 

a)
3

2
 

ii) 3 ;k 3 ls cM+h la[;k izdV gksuk  
Appearing greater than 3 or 3 

b)
2

1
 

iii) 1 ;k 1 ls NksVh la[;k izdV gksuk  
Appearing number less than 1 or 1 

c)
6

1
 

iv) 6 ls cM+h la[;k izdV gksuk  

Number appearing greater than six 

d) 0 

v)  6 ls NksVh la[;k izdV gksukA  

Number appearing less than six. 
e)

6

5
 

vFkok OR 

rhu flDds ,d ckj mNkys tkrs gSaA fuEufyf[kr dh izkfFkdrkvksa dk feyku dhft,A 

Three coins are tossed once. Match the Probabilities of following : 

i) rhu fpr izdV gksuk   a) 
8

1
 

 Three heads appear  

ii) nks fpr izdV gksuk   a) 
2

1
 

 Two heads appear 

iii) U;wure 2 fpr izdV gksuk  a) 
8

1
 

 minimum two heads appear 

iv) 3 iV izdV gksuk   a) 
8

7
 

 Three tail appear. 

v) vf/kdre 2 iV izdV gksuk  a) 
8

3
 

 Maximum 2 tail appear. 



[k.M&;  

Section - E 

26- ,d xq.kksRrj Js.kh esa rhljk in 24 rFkk 6 oka in 192 gS rks 10 oka in Kkr dhft,A 
Find the 10th Term of G.P. if 3rd and 6th term of G.P. are 24 and 192  (6) 

vFkok OR 

1 o 256 ds e/; rhu xq.kksRrj ek/; Kkr dhft,A 

Find the 3 GM between 1 and 256 

vFkok OR 

40 rFkk 28 ds chp nks lekUrj ek/; Kkr dhft,A 
Find the two AM between 40 and 28 

27- òÙk 022 22  xyx  dk dsUnz o f=T;k Kkr dhft,A    (6) 

Find the Radius and Centre of Circle 022 22  xyx  

vFkok OR 

fdlh ijoy; dh ukfHk (3,0) rFkk fu;rk x+2 = 0 gks rks bldk lehd.k Kkr dhft,A 
Find the equation of Parabola when its focus (3,0) and directrix is x+2 = 0 

vFkok OR 

;fn ,d ijoy; dk lehdj.k xy 82  gS rks ukfHk ds funsZ'kkad] v{k] fu;rk dk 

lehdj.k fyf[k,A 

Write the Equation of Directix , Axis and Coordinate of focus if na  of Parabola is 

xy 82    

28- fuEufyf[kr vk¡dM+ksa ds fy, ekf/;dk ds lkis{k ek/; fopyu Kkr dhft,A (6) 
Find the Mean deviation with respect to median for following data- 

ix  3 6 9 12 13 15 21 22 

if  3 4 5 2 4 5 4 3 

vFkok OR 

fuEufyf[kr vk¡dM+kas dk ek/; ls ek/; fopyu Kkr dhft,A 
Find out the mean deviation from mean of following data- 

ix  2 3 4 5 6 7 

if  3 8 5 10 6 4 

vFkok OR 

fuEufyf[kr vk¡dM+ksa dk izlj.k Kkr dhft,A 
Find the variance of following data 

11, 14, 15, 17, 18  
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iz'u la[;k 
Question No. 

vad izfr iz'u 
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12-19 2 

20-23 4 

24-25 5 

26-28 6 

 
  



[k.M&v  

Section-A 

1- cgq oSdfYid iz'u %& 

Multiple Choice Questions :- 

i)   ds mileqPp;ksa dh la[;k gS&      (1) 

Number of subset of  is - 

a) 0   b) 1   c) 2   d) 4 

ii) ;fn n(A) =10, n(B)=7 rFkk 5)(  BAn gks rks ?)(  BAn   (1) 

?)(  BAn  if n(A) =10, n(B)=7 and 5)(  BAn  

a) 10   b) 22   c) 8   d) 12 

iii) ekuk }2,1{A vkSj }4,3{B , A ls B esa laca/kksa dh la[;k gS&  (1) 

Let }2,1{A vkSj }4,3{B than number of relation between A to B- 

a) 16   b) 9   c) 32   d)15 

iv) 0sec(180 ) ?          (1) 

a) 1   b) 0   c) -1   d)   

v) 0sin15 ?          (1) 

a) 
2

13 
  b) 13    c) 

2

13 
  d) 

22

13 
 

vi) 2 5cjkcj gS& 2 5  is equal to -      (1) 

a) 240   b) 120   c) 10   d) 60 

vii) js[kk 65  xy  dk <ky gS - Slope of equation 65  xy  is -  (1) 

a) 6   b) 5   c) -5   d) 
6

5
 

viii) ewy fcUnq ds funsZ'kkad gS- Coordinates point of origin are -    (1) 

a) (1, 1, 1)  b) (0, 0, 0)  c) (0, 0, 1)  d) (2, 2, 0) 

ix) 
0

lim

x
?

tan


x

x
        (1) 

a) 0   b) 1   c) -1   d) 
2

1
 

x) fuEufyf[kr vk¡dM+ksa dk ifjlj gS&      (1) 
15, 20, 17, 56, 19, 45  

What is the range of following data- 

15, 20, 17, 56, 19, 45 

a) 41   b) 15   c) 30   d) 56  
 



2- leqPp; }4,:{ 2  nneznA dks jksLVj :i esa fyf[k,A    (1) 

Write in roaster form of set  }4,:{ 2  nneznA  

vFkok OR 

leqPp; xxA :{  ,d fo"ke izkd̀r la[;k gS} ds vo;okas dks lwphc) dhft,A  

Write in roaster form of elements of set xxA :{  is an odd natural number}  

3- vpj Qyu cnf )(  dk ifjlj fyf[k,A      (1) 

Write the range of constant function cnf )(  

vFkok OR 

;fn 52)( 2  xxxf  rks )1(f   dk eku Kkr dhft,A 

Evaluate )1(f  if 52)( 2  xxxf  

4- 
i

i

32

5




 dk ekikad fyf[k,A        (1) 

Write Modulus of 
i

i

32

5




 

5- 022 x dks gy dhft,A        (1) 

Solve 022 x  

6- 5 6 30 0x y   dk vr% [k.M :i fyf[k,A      (1) 

Write Interest form of line 5 6 30 0x y    

7- 2 25 xx x e   dk vodyt fyf[k,A       (1) 

Write derivative of  2 25 xx x e   
vFkok OR 

x
lim

?
1

235
2

2





xx

xx
 

8- vk¡dM+ks 5] 10] 7] 9] 11] 7] 9] 0 dk ek/; Kkr dhft,A    (1) 
Evaluate mean of data 5, 10, 7, 9, 11, 7, 9, 0 

9. ...............)cos(  BA         (1) 

10. ................2021 i          (1) 

11. 
0

lim

x
..................

8

3sin


x

x
        (1) 

[k.M&c  
Section  - B 

12- ;fn 5)(,40)(,15)(  BAnBAnAn rc (then) ?)( Bn    (2) 

vFkok 

lehdj.k 022  xx dk gy leqPp; jksLVj :i esa fyf[k,A 

Write the solution set of equation 022  xx  in roster form 



13- Qyu 66log( 2  xx  dk izkar fyf[k,A      (2) 

Write the domain of function 66log( 2  xx  

14- ;fn )4,3,2{)( Aif rFkk }9,7,5{)( Band rc (then) ?BA     (2) 

vFkok OR 

 Qyu 21
)(

x

x
xf


  dk ifjlj Kkr dhft,A 

Find out the range of function 21
)(

x

x
xf


  

15- lfEeJ la[;k 
65

32



i

i
 dk la;qXeh fyf[k,A      (2) 

Write the conjugate of complex number 
65

32



i

i
 

16- 0532  xx  dks gy dhft,A       (2) 

Solve 0532  xx  

17- 
1 1 1

7 8 9
  rc (then), n = ?        (2) 

vFkok OR 

 
8

?
6 2


  

18- 1tansin
1

 xx
x  dk vodyt fyf[k,A      (2) 

Write the derivative of 1tansin
1

 xx
x  

19- ;fn 
0

lim

x
KK

x

xx
,

)3log()3log(



 dk eku Kkr dhft,A   (2) 

Find out the value of K if  
0

lim

x
KK

x

xx
,

)3log()3log(



 

[k.M & l  

Section - C 

20- MISSISSIPPI 'kCn ds v{kjksa ls cus fHkUu&fHkUu Øep;ksa esa ls fdruksa esa pkjksa I ,d 

lkFk ugh vkrs gS\         (4) 

In How many of the distinct permutations  of the letter's in MISSISSIPPI do the four  

I  not come together ? 

 

vFkok OR 



5 yM+ds vkSj 4 yM+fd;ksa esa ls 3 yM+dsa vkSj 3 yM+fd;ksa dh Vhesa cukus ds fdrus 

rjhds gS \ 

In How many ways can a team of 3 boys and 3 girls be selected from 5 boys and 4 

girls. 

21- ,d xq.kksRrj Js.kh dk izFke in a = 729 rFkk 7 oka in 64 gS rks S7 Kkr dhft,A 
Evaluate S7 if first term of G.P. is a = 729 and 7th term is 64   (4) 

vFkok OR 

fdlh lekUrj Js<+h dk n oka in )13( n  gS rks Js<h ds izFke 12 inksa dk ;ksxQy 

Kkr dhft,A  

Find the sum of first 12 term of an A.P. if nth term of A.P. is )13( n   

22- fcUnqvksa (h, 3) vkSj (4,1) ls tkus okyh js[kk] js[kk 7x-9y-19 = 0 dks ledks.k ij 

izfrPNsn djrh gSA h dk eku Kkr dhft,A       (4) 
The line through the points (h, 3) and (4, 1) intersects the line 7x-9y-19=0 at right 

angle.  Find the value of h 

vFkok OR 

y - v{k ij dkSu ls fcUnq ,sls gS] ftudh js[kk 1
43


yx
 ls nwjh 4 bdkbZ gS \  

What are the point on y-axis, whose distance from the line 1
43


yx
 is 4 units ? 

23- ,d f=Hkqt ABC dk dsUnzd ¼1] 1] 1½ gSA ;fn A vkSj B ds funsZ'kkad Øe'k% ¼3] &5] 

7½ o ¼&1] 7] &6½ gSA fcUnq C ds funsZ'kkad Kkr dhft,A    (4) 

The centroid  of a Triangle ABC is at the point (1, 1, 1). if the coordinates of A and B 

are (3, -5, 7) and (-1, 7, -6) respectively, find the coordinates of the point C 

vFkok OR 

fl) dhft, fd (0, 7-10), (1, 6, -6) vkSj (4, 9, -6) ,d lef}ckgq f=Hkqt ds 'kh"kZ gSA 
Prove that the vertices of an isosceles triangle are (0, 7, -10) (1, 6, -6) and (4, 9, -6) 

[k.M&n 

Section-D 

24- [k.M A dks [k.M B ls feyku dhft,A      (5) 

Match up section A to section B 

Section-A     Section-B 

i) yx cossin2      a) )cos()cos( yxyx   

ii) yx sincos2      b) )sin()sin( yxyx   

iii) yx coscos2     c) )sin()sin( yxyx   

iv) yx sinsin2     d) )cos()cos( yxyx   

 



vFkok OR 

Section A     Section B 

i) 015sin      a) 
22

13
 

ii) 015tan      b) 32   

iii) 
075sin      c) 1 

iv) 
00cos      d) 

22

13 
 

25- A vkSj B nks ?kVuk,a bl izdkj gS fd P (A) = 0.54, P(B) = 0.69 vkSj 

35.0)(  BAP  rc [k.M A dks [k.M B ls feyku dhft,A   (5) 

A and B are two events such that P (A) = 0.54, P (B) = 0.69 and 35.0)(  BAP then 

match up section A to section B 

 Section A    Section B 

i) )( BAp      a) 0.12 

ii) )''( BAp      b) 0.34 

iii) )'( BAp      c) 0.19 

iv) )'( ABp      d) 0.88 

OR 

rk'k ds 52 iRrksa dh ,d Hkyh&Hkkafr QsaVh xbZ xM~Mh esa ls ,d iRrk fudkyk x;k gSA 

fudkys x, iRrs dh izkFkfedrkvksa dk feyku dhft,A 
One card is drawn from a well shuffled deck of 52 cards. If each outcome is equally 

likely, then match up the probilities that card will be 

i) iÙkk bZUV dk gSA (A Diamond)   a) 
13

12
 

ii) iÙkk bDdk ugh gSA (Not an ace)   b) 
4

3
 

iii) iÙkk bZUV dk ugh gSA (Not a diamond)  c) 
4

1
 

iv) iÙkk dkysa jax dk ugh gSA (Not a black)  d)  2

1
 

[k.M & ;  

Section - E 

26- 1 ls 2001 rd ds fo"ke iw.kkZadkas dk ;ksx Kkr dhft,A   (6) 
Find the sum of odd Integers from 1 to 2001 

 



vFkok OR 

lekUrj Js<h ,........5,
2

11
,6 


 ds fdrus inksa dk ;ksxQy 25 gSA 

How many terms of A.P. 
11

6, , 5, ........
2

arethere


   whose sum is 25 

vFkok OR 

xq.kksÙkj Js<+h 5] 10] 20 ----------- dk dkSulk in 5120 gSA 
Which term is 5120 of G.P. 5, 10, 20, .............. 

27- òÙk 0810822  yxyx  dk dsUnz rFk f=T;k Kkr dhft,A  (6) 

Find the radius and centre of circle 0810822  yxyx  
vFkok OR 

;fn ,d òRr dk dsUnz 







4

1
,

2

1
 rFkk f=T;k 12

1
 bdkbZ gS rks òÙk dk lehdj.k Kkr 

dhft,A 

Find the equation of circle if its centre is 







4

1
,

2

1
and radius is 12

1
 unit 

vFkok OR 
,d ijoy; dk ukfHk ¼0]&3½ rFkk fu;rk y = 3 rc ijoy; dk lehdj.k Kkr 

dhft,A 
Find the equation of parabola where focus is (0, -3) and directrix is (y = 3) 

 

28- fuEufyf[kr vk¡dM+ksa ls ek/;fedk ds lkis{k ek/; fopyu Kkr dhft,A  (6) 

Find the mean deviation with respect to median of following data 

3, 9, 5, 3, 12, 10, 18, 4, 7, 19, 21 

vFkok OR 

Find the mean deviation with respect to median for following data :- 

ix  4 5 8 10 12 13 18 20 

if  2 4 3 6 5 4 1 5 

vFkok OR 

fuEufyf[kr vkadM+ksa ds fy, ekud fopyu Kkr dhft,A 
Find the standard deviation of following data 

ix  3 8 13 18 23 

if  7 10 15 10 6 

 


